2012460 A B = 2 53

a= Dy ﬁf?ﬁ DEE. ROMAIEL L,
xR
(1) BADDBTHITELLEXRBNNTEZ L, 1) atboflizfot,
(2) BAIMEBEILS DL X IIEEOHERE/NIVIEOBKIZTAZ L, ‘
(8) HxDOFFHIMEA D B & 2 I FHRE A S BT 5 2 k. @) @' OERD S
(4) ZBZICHRBEREIME L Z T 2HWE T L, 8) a'—b' Ofi% kD X,

] komvisz s,

— 2y y—2x [y
1y = — +r REHER L,
3 g TrE 156 5 OHEFH 1 DF BT HD SO — Khb Db, ZORhS KON — K%

, WYL CHERT3ITFOHED D, COL X, ROBWVIZEZ L,
@ (3 ab?) x(—2a%)* + La' ERIHEL,
(1) 3 F7-DEII A CTE T X %
3x—2y =bx—4 "
(8) AR { EH (2) 300& YA X VEIZTHETE 2 2%

—2y=5b—=x
1 (8) TE7Ha/NEWVIEIZIEARZ- L &, 35213 F H 12522
1) zlZoWToOFERX 46’2 —4(a+1)x+3=02 = 5 FIRIZD DL ED a D%
5]‘{5{);0
(5) V180(25 —m) D HEH L 7 % X9 /O BB m Ofii % K L
6) KAD2MHDENT A ZEFERICIRITSE L&, WAHDOEN2 THIMEREZRD X,

(M H2EHH4%251VT2RLZEE, HEHE2HELTIZIHEELVEV ),
& B ERD Lo

8) TOKUT, L/mTHrbrs, Lr ODRESEZRD L,

'12-17



[4] moLsc, iy =2 Ok y=ar® @b, @M (—2, —8) £il2, [6] mo k3o, s 130 4cm DIESET, OA = OB = OC = OD = 8 cm O EPIf

I, QLIC2HEABZEY, QLIC2HCDRED, ZOLE, XOMWIZE R $vOABCD 2% %, TS A, D538 OB, OC ICZNZNIEHMH AP, DQ #75[< & X,
o ROBNIEZ &,
Yy )
(1) IEPUf4 v OABCD OfffE % ko X,
B A
(2) #o AP DESERD X,
(@) x
(3) UM APQD DR %KD Lo
D C
®

() aDfiEzkDd &,
HEREH EOR AP 2 b JIPASRD L2, Ao bofio FoAim e &

Z A B E &, S A BT RO &,
@) AR ABDC SEHT %% & &, A OHREE KD & R

(8) @»&E, #% BD & xilil DR EEMEY . IEHTH ABDC OHiflk % 2 %54 5 i LI H i1 v
D E KD X, 2EE k2
SHH k3 Py1e P,
[6] Mo &51c, 1M0R S 1 OE=ME ABC £ CD i &+ 2 787 5w LR 5P -
o W AD L BC OB Th L, T0LE, KOBVIZEL L, oH : Ea o 1
a D | EHOEP Ofifi% P L+ 5 &, PO (1, 0)
2HHDONP OMER P, &35 L, P OBEEEIE (1, 2)
Ll ho ROMWIZEZ Lo
B C

(1) Ps DEEREZ KD X

(1) IE=MT ABC OlHfE % ko &,
(2) Pos OJEREZ KD &,
2 MoPEZERD Lo

(3)  PADRHEER > O KD Lo

'12-18



#H ¥
1] 22x1—211y @ —16a°° (3) =3, y= —1
W a=1 6 m=5 6 =
(70 5 (8) 136 &4 1 (NEF324)
1 J10 @ —2/15 (3 —16/15 %455 (UNEHL2S)
(1) 60f@ (20 36 (3 35%H %4 2 (NEH2)
o 2 4 _ 1 __ 2
@ a=-2 @ (2.4) © y=-52-2
%40 UNEH23)
1) 43 (2 J3 (3 ng‘f %455 (N2
(6] (1) 32éﬁcm3 2 J15em (3 %cmz’ézlﬁ (hiF1224)
1) (3, —-2) (2 (13 —12) %48 UNEFS M)

2 #®
(1] (=%t L2oAdSgic e £ ), REREDEIND O &P <7z

4) ZFr=7 =7 AbFN=NHsz (ams)
b)=1 6)="7 ()=
(Bor) %255 OUREF14mM)

(1)=2H2 + O2 — 2H20 (2) KE . BE=2:.1

(3) (@=90 (b)=0 (4)=0.044 g (5)=5 cni

(BLsr) £ 2 (UhET12)

W=7 -2 -F (2)=+4 B8)=1 - % (4)=150000L

(5 Q=7 FUE Q=% (Eams)

(6)=A1 (M= - F 8)=7 - 9)=+1

W=e-@ - ® W0W=2-@® 0 XK=z Hr=_1 (E&ms
(BLs) %25 (UhEr24m)

(1)=45 cm/F (2)= (3)=23 cm 4)=rs

M=Lwoit @=2@k  @)=XKILDOWEKCKILEE)
(4)= (1F) /= (B)=7 6)=fKe (7=t
(8)=ZE R IR AL 9)=" 10)= A1

1) a=v c=7 (G&ms)

12 FeF=0 EWH=ALI)a (EamsE)

(i) %2 81 (hak24s)

'12-33



B W @

i

20124 A

w

fab=t iy

Hax g

)

I

8

D <

N =
Il

— —~

N Lo

= -
Il
N

— —

— <t

#HH

e

i

cm’

cm




	2012表1
	2012-01
	2012-02
	2012-03
	2012-04
	2012-05
	2012-06
	2012-07
	2012-08
	2012-09
	2012-10
	2012-11
	2012-12
	2012-13
	2012-14
	2012-15
	2012-16
	2012-17
	2012-18
	2012-19
	2012-20
	2012-21
	2012-22
	2012-23
	2012-24
	2012-25
	2012-26
	2012-27
	2012-28
	2012-29
	2012-30
	2012-31
	2012-32
	2012-33
	2012-34
	2012-35
	2012-36
	2012-37
	2012-38
	2012-39
	2012表4

